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fa: Fuii: ATLUL:
7 + 8% + dx + 2(8x — 5x%) 3(6x% — 2x%) + 6x% + 3x — 2x°
6x° + 3x + 26 — 2% — x? 2(4x% + 9x%) — 9% — 9% + Tx
2(8x3 - 2x2) — x> + 4x + 8x X+ 3x— 6 — 4x” — 5x°
2(9x% — 8x%) + 6x° — 6x + 3x? 4x— 6x° + 2% + 5% + 81
4(8x— 9x) + 6x° + 6x° + 5x° Sx— 3x— 9% — 2(4x — 7x3)
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ia: FUTi: ATLUL:
7 + 8¢ + 4x + 2(8x — 5x?) 3(6x° — 2x%) + 6x% + 3x — 2x?
7 — 202 + 20x 16x% + 3x
6 + 3% + 207 — 220 —x? 2(4% + 9x7) = 9% — 9 + Tx
Ao + 4o O — % + Tx
2(8x% — 2x%) — 9% + 4x + 8x X+ 3x— 6 — 4 — 5x°
T — 4 + 12x —11x° — 3% +3x
209 — 8x%) + 6x° — 6x + 3x? 4x — 6 +2x° + 5% + 8x°
6x° + 5 — 6x 43 + 5% + 4x
4(8x— 9x) + 6x° + 6x° + 5x2 5x—3x— 9% — 2(4x — x> )
1223 + 5% — 4x 14x° — 9% — 6
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